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53538 

[Time: 2:30 Hours] [ Marks:75] 

Please check whether you have got the right question paper. 

N.B: 1. All questions are compulsory. 

2. Figures to the right indicate full marks. 

3. Draw neat diagrams wherever necessary. 

 

Q.1  Attempt any two of the following: 15 

 a) Define the concept of public finance and explain dissimilarities between public and private 

finances. 

 

 b) Diagrammatically explain the Principle of Maximum Social Advantage.  

 c) Explain redistributive and anti-inflationary tax policy of the government. 

 

 

Q.2  Attempt any two of the following:  15 

 a) Discuss the various sources of public revenue.  

 b) Explain the merits and demerits of direct taxes.  

 c) Explain the concept of impact, incidence and shifting of taxation with examples. 

 

 

Q.3  Attempt any two of the following:  15 

 a) Discuss the causes of increase in public expenditure.  

 b) Define public budget and explain types of budget.  

 c) What is fiscal federalism? What are the key issues of fiscal federalism? 

  

 

Q.4  Attempt any two of the following: 15 

 a) Explain the organized sector of Indian Money Market.  

 b) Write a note on the role of capital market in economic development.  

 c) Discuss the reforms taken in the Indian Capital Market since 1991 with special reference to 

secondary market. 

 

 

Q.5    

 (A) State with reasons, whether the following statements are true or false (any four) 8 

 i) The primary objective of public finance is to maximize profit.  

 ii) Classical economists were strong supporters of government intervention in the economy.  

 iii) Indirect taxes are difficult to evade.  

 iv) When the burden of a tax is borne by final consumers, it is called backward shifting of a tax.  

 v) Under development of a country is one of the causes of increase in public expenditure.  

 vi) Primary deficit indicates the actual position of the government finances.  

 vii) Chit funds are part of organized Indian Money Market.  

 viii) Investment in mutual funds is a major option in the Indian Capital Market. 
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 B) Choose the correct answer and rewrite the statement (any seven) 7 

 i) Which of the following is not a fiscal tool? 

a) Taxation            b)  Repo rate             c) Public expenditure      d) Public debt 

 

 ii) According to the “Principle of Maximum Social Advantage” the government has only ________ 

budget. 

a) Surplus            b) Deficit         c) Balanced         d) unbalanced 

 

 iii) The term functional finance was coined by 

a) A.P. lerner       b) J.M. Keynes          c) David Ricardo   d) Adam Smith  

 

 iv) Which of the following is not a source of non-tax revenue to the government. 

a) Fee      b) Betterment levy        c) GST       d) Grants 

 

 v) GST is an example of _______. 

a) Direct tax      b)Indirect tax       c) Both a and b       d) None of the above 

 

 vi) If elasticity of supply is equal to elasticity of demand the incidence of tax will be _______. 

a) More on buyer                                b) More on seller        

c) equal on both buyer and seller         d) None of the above 

 

 vii) ______ is not an example of unproductive expenditure of the government. 

a) Expenditure on Defence                    b) Expenditure on Law and Order  

c) Expenditure on interest payment        d) Expenditure on agricultural development 

 

 

 viii) Loans for which no promise is made by the government regarding the exact date of maturity is 

______. 

a) Irredeemable debt       b) Redeemable debt     c) Productive debt     d) Voluntary debt 

 

 ix) In India Finance Commission is appointed every ________. 

a) 5 years       b) 4 years          c) 3 years          d) 2 years 

 

 x) ______ are a part of organized money market. 

a) Finance brokers         b) Loan Companies      c) Commercial Bank    d) Indigenous 

Bankers 

 

 xi) Which of the following is not a function of Capital Market. 

a) Promoting industrial development             b) Mobilisation of savings  

c) Development of commercial banks              d) None of the above 

 

 

 xii) Investor Production fund was set up under SEBI Act for ______. 

a) Investors education       b) Investors complaints      c) both a and b     d) none of the above 

 

    

    

_____________ 
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(मराठी रुपाांतर) 

[वळे: २:३० तास] [ गणु:७५] 

Please check whether you have got the right question paper. 

सचूना: 1. सवव प्रश्न आवश्यक आहते. 

2. उजवीकडील अांक ह ेपणूव गणु दर्वववतात. 

3. आवश्यक तेथे सबुक आकृत्या काढा. 

 

प्र.१  खालीलपैकी कोणतेही दोहोंची उत्तरे वलहा. १५ 

 अ) साववजवनक आयव्यय (राजस्व) या सांकल्पनाची व्याख्या वलहून साववजवनक आयव्यय आवण खाजगी आयव्यय 

यामधील फरक स्पष्ट करा. 

 

 ब) महत्तम सामावजक लाभ तत्वाचे आकृतीच्या आधारे स्पष्टीकरण करा.  

 क) सरकारचे पनुवववतरण आवण भाववाढ ववरोधी कर धोरणाचे स्पष्टीकरण करा. 

 

 

प्र.२  खालीलपैकी कोणत्याही दोहोंची उत्तरे वलहा.  १५ 

 अ) साववजवनक प्राप्तीच्या ववववध स्त्रोताांची चचाव करा.  

 ब) प्रत्यक्ष कराांचे गणु व दोष स्पष्ट करा.  

 क) कराघात, करभार आवण करसांक्रमण या सांकल्पनाांचे उदाहरणादाखल स्पष्टीकरण करा. 

 

 

प्र.३  खालीलपैकी कोणत्याही दोहोंची उत्तरे वलहा.  १५ 

 अ) साववजवनक खचावतील वाढींच्या कारणाांची चचाव करा.  

 ब) साववजवनक अांदाजपत्रकाची व्याख्या वलहून अांदाजपत्रकाचे प्रकार स्पष्ट करा.  

 क) सांघीय ववत्तरचना म्हणज ेकाय? सांघीय ववत्तीय रचनेच्या मलुभतू समस्या कोणत्या ? 

 

 

प्र.४  खालीलपैकी कोणत्याही दोहोंची उत्तरे वलहा. १५ 

 अ) भारतीय नाणबेाजाराच्या सांघटीत क्षेत्राचे स्पष्टीकरण करा.   

 ब) भाांडवल बाजाराची आवथवक ववकासातील भवूमका यावर वटप वलहा.  

 क) दयु्यम बाजाराच्या ववर्ेष सांदभावत भारतीय भाांडवल बाजारात १९९१ पासनू हाती घणे्यात आलेल्या सधुारणाांची चचाव 

करा. 
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प्र.५ अ) खालील ववधाने चकू की बरोबर सकारण साांगा ०८ 

 i) महत्तम नफा ह ेसाववजवनक आयव्ययाचे (राजस्वाचे) प्राथवमक उविष््टय आह.े  

 ii) सनातनवादी अथवर्ास्त्रज्ञ अथवव्यवस्थेतील सरकारी हस्तके्षपाचे कट्टर समथवक होते.  

 iii) अप्रत्यक्ष कर चकुवण ेकठीण असते.  

 iv) जवे्हा कराांचा भार हा अांवतम ग्राहकाकडून सोसला जातो तेव्हा त्याला प्रवतगामी करसांक्रमण असेम्हणतात.  

 v) दरे्ाची अववकवसतता ह ेसाववजवनक खचावतील वाढीच्या कारणाांपैकी एक अस ूर्कते.  

 vi) प्राथवमक तटु वह सरकारची वास्तववक ववत्तीय वस्थती वनदवेर्त करते.    

 vii) वचठ्ठी वनधी या सांघटीत नाण ेबाजाराचा भाग आहते.  

 viii) भारतीय नाणबेाजारात परस्पर वनवध हा गुांतवणकुीचा प्रमखु पयावय आह.े 

 

 

 ब) योग्य पयावयाची वनवड करून वाक्ये पनु्हा वलहा. (कोणतेही सात) ०७ 

 i) खालीलपैकी कोणते ववत्तीय साधन नाही? 

अ) कर         ब) ररपो दर          क) साववजवनक खचव          ड) साववजवनक कजव 

 

 ii) महत्तय सामावजक लाभ तत्वानसुार सरकारचे अांदाजपत्रक ह ेफक्त ________ असाव.े 

अ) अवधक्याचे     ब) तटुीच े    क) सांतलुीत        ड) असांतलुीत 

 

 iii) कायावत्मक ववत्त वह सांकल्पना याांनी पढुे आणली _______. 

अ) ऐ. पी. कनवर       ब) ज.े एम. केन्स        क) डेवव्हड ररकाडो         ड) अडॅम वस्मथ 

 

 iv) खालीपैकी कोणता स्त्रोत हा सरकारचा करेत्तर स्त्रोत नाही? 

अ) फी (र्लु्क)        ब) ववर्षे आकारणी    क) वस्त ूव सेवा कर (GST)    ड) अनदुाने 

 

 v) वस्त ुव सेवा कर (GST) ह ेयाचे उदाहरण आह े_________. 

अ) प्रत्यक्ष कर        ब) अप्रत्यक्ष कर        क) दोन्ही अ व ब         ड) वरीलपैकी नाही 

 

 vi) जर परुवठ्याची लववचकता ही मागणीच्या लववचकते बरोबर असल्यास कराचा भार हा ______. 

अ) खरेदीदराांवर अवधक असेल         ब) ववके्रत्यावर  अवधक असेल        

क) ग्राहक आवण ववके्रते  दोघाांवर समान असेल      ड) वररल पैकी नाही 

 

 vii) ________ ह ेसरकारच्या अनतु्पादक खचावचे उदाहरण नाही 

अ) सांरक्षणावरील खचव                 ब) कायदा व सवु्यवस्थेवरील खचव         

क) व्याजाच्या दणे्याांवरील खचव       ड) र्तेी ववकासावरील खचव 

 

 viii) ज्या कजावच्या बाबतीत सरकार पररपक्वतेच्या वनवित तारखचे्या बाबतीत वचन दते नाही अर्ी कज ेम्हणज े______ 

अ) अर्ोध्य  कजव       ब)  र्ोध्य कज े    क) उत्पादक कजव        ड) एवच्िक कज े 

 

 ix) भारतात ववत्त आयोगाची स्थापना प्रत्येक ________ वषाांनी होते. 

अ) ५ वष े      ब) ४ वष े       क) ३ वष े     ड) २ वषे 
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 x) _______ ह ेसांघटीत नाणेबाजाराचा भाग आहते. 

अ) वववत्तय दलाल        ब) कजव कां पन्या     क) व्यापारी बँका        ड) खाजगी सावकार 

 

 xi) खालीलपैकी कोणते भाांडवल बाजाराचे कायव नाही? 

अ) औद्योवगक ववकासाला चालणा दणे े           ब) बचती सांग्रहीत करण े       

क) व्यापारी बँकाांचा ववकास                          ड) वरीलपैकी नाही 

 

 

 xii) सेबीच्या कायद्या अांतगवत गुांतवणकूदार सांरक्षण वनवधची स्थापना याांकररता केली गलेी_______. 

अ) गुांतवणकूदाराांचे वर्क्षण          ब) गुांतवणकूदाराांच्या तक्रारी      

क) दोन्ही अ व ब  ड) वरीलपैकी नाही 

 

    

************** 
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